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(1) Question No 1 is compulsory.
(2) Figure shows on the right is total marks of each question.
(3) Show all necessary calculations.
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ENGLISH VERSION

Q.1 (A) Which method of costing is suitable for following industries? 2
(1) Gas supplier company (2) Interior decoration
(3) Soap manufacturing unit (4) Bicycle industry
(B) From the following information find out total cost and total profit, 3

there is no opening or closing stock of finished goods material.
Rs 1,50,000 Total sales Rs 10,80,000 Labour Rs 1,80,000

Assume that Factory expense is 40% of factory cost and office
expense 1s 20 % of total cost.

(C) Monthly overheads of a factory is Rs 1,20,000, 30 workers worked for 2
25 days in a month for daily 8 hours.
What shall be the labour hour rate?

(D) From the following information find out Material Turnover Rate 3
Sales Rs 6,00,000 Rate of cross profit - 331/3%
Closing stocks 30% of purchase
Opening stock 33'/.% of closing stock

Q.2 Mausam Ltd manufacturers two products named x & y cost for the year 14
ended on 31-12-2017 was as under.

Direct Materials 25,00,000
Direct wages 5,20,000
Direct Expenses 3,75,000
Total sales  50,00,000
(1) Direct material per unit in X is two times higher as compared to Y.
(2) Direct labour per unit for Y is 40% of X per unit.
(3) Direct Expenses of X and Y are in the proportion of its production.
(4) Factory overheads in both the products are 20 % of prime cost.
(5) Office overheads in both the products are 50 % of direct labour.
(6) Finished goods of X (in unit) is 25 % of sales units while selling unit of
Y is 4 times of finished goods (unit).
(7) Selling overheads per unit of X Rs. 8 and Y Rs 9.
(8) Finished goods stock of X Rs 5,42,500 and Y Rs 5,30,000
(9) Selling Price per unit of X is twice as compared to Y.

(10) Production cost per unit : X is Rs 217, Y 1s Rs 106 Prepare cost sheet
of X and Y showing total cost, total profit and also show cost per unit
and profit per unit of both X and Y calculate the profit on sales in

percentage also.
OR
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Q.2

Samarth Ltd is manufacturing and selling of Batteries. Trading and Profit 14
and Loss Account for the year 2017 is as follows:

Trading & Profit & Loss Account

Rs Rs

Opening stock of 20,000 |Sales 7,60,000
Raw Material Closing stock of Raw 15,000
Purchase of Raw 1,80,000 | material
Material
Railway freight 10,000
Inward Carriages 5,000
Wages 80,000
Gross Profit 4,80,000

7,75,000 7,75,000
Factory Expenses 1,00,000 | Gross profit 4,80,000
Salary of office 40,000 | Interest and dividend 20,000
Office Rent 20,000 |Received
Other Administrative 50,000
Expenses
Advertisement Expenses 30,000
Other selling Expenses 20,000
Commission on sales 10,000
(Rs 10 per Battery )
Distribution Expenses 20,000
Net Profit 2,10,000

5,00,000 5,00,000

For the years 2018 it is estimated that

(1) Production and Sales will be increased by 50%

(2) Rate of Material will rise by 20%

(3) Wages will be increased in the proportion of production. Also 5 workers will
be appointed with a monthly salary of Rs 200 to each.

(4) Among Factory Expenses 60 % is fixed and it will be increased by 30%

(5) Salary of office will be increased by 5%.

(6) On 1-1-2018 the company bought office building and its municipal tax is
Rs 8,000.

(7) Advertisement expense will increased by 50 % and there will be no change in
selling and distribution expenses, Packing expense of Rs 5 is included in
distribution expenses.

(8) The rate of Profit will remain uniform.

Prepare cost sheet for the year 2017 and Estimated cost sheet for the year
2018.
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Q.3

Q.3

Calculate Machine Hour Rate from the following information of 14
Keshav Co Ltd.
(1) Rent and Taxes ( yearly ) Rs 30,000
(2) Electricity ( Monthly ) Rs 2,000
(Machine uses 5 light points out of total 15 light points in the work shop )
(3) Insurance Premium -2%
(4) Consumption of power - 4 units per hour
(5) Expenses of Power ( yearly ) Rs 52,500
(6) Estimated life of machine 25,000 hours
(7) Scrap value at the end of Estimated life Rs 1,50,000
(it is 25 % of machine price )
(8) Supervisor’s salary (monthly) Rs 10,000
(He spends 2/5 of his time for the supervision of this machine)
(9) Wages of workers (Per worrker) (Monthly) Rs 4500 (There are five workers in
the factory who looks after 4 Machines )
(10) Hire Purchase Instalment of machine (Half yearly) Rs 5250 (including Rs 525
interest)
(11) The machine occupies 1/5 space of the factory..
(12) Maintainence and Repairing Expenses - Rs 5 per hour
(13) Rate of Power Rs 2.50 per unit.
OR
Calculate : (14)
Economic Order Quantity
Minimum Level
Re-ordering level
Danger level
Average stock level (As per order quantity)
Safety level.
Maximum stock level - 10,000 units
Minimum Consumption per week - 600 units
Average Consumption Per week - 1000 units
Maximum time for emergency procurement - 3 days
Minimum time required to receive goods - 2 weeks
EOQ is 1/3 portion of re-order stock level factory works 6 days in a week.

IS

Write Short Notes (Any THREE) (12)
Incentive wage system.

Apportionment of overheads over various departments

Tender Price

Advantages of cost Accounting

Difference between Bincard and ledger of material.
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